7.2 – More Acid/Base Practice
1. Compare and contrast a strong acid and a weak acid. Explain how the two are similar and how they are different.

2. You have a sour solution, which ion is responsible for this sour flavor:

A. H+
B. NH4+
C. OH-
D. Cl-
E. SO4-2.

3.You have the following chemical reaction that you run:

 H2SO4 (aq) + NaOH ( H2O + Na2HSO4
This is a very common acid/base reaction as you can tell by the presence of H2SO4 and NaOH.


a) Balance the chemical reaction

______ H2SO4 (aq) +_____ NaOH ( _________ H2O + __________ Na2SO4

b) 450 g of NaOH, then how many moles of NaOH do you have?

c) Using the moles from part b, what is the molarity of this NaOH solution if you have 4 L of solution. Use 8 moles if you did not get an answer for b.

d) Using your answer from b, how many moles of H2O would you produce if you reacted all of the moles from part b. Use 8 moles if you did not get an answer for b.

